Differentiation Quiz

Find the derivative:
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y = sin (bx) cos (3x)

y = (cos (2?) + cos? z)”

y =12+ rcosr + x°

Yy = ($2 +r— 1) sin x cos?

_ . 2
.y—coa(:r. —|—ﬁ)

_ x22
= T +1

y = z2Ytan

y= (m+x)5
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Find the derivative:

21. y = /1 —cosz (tanz)?

sin(I3)
y= sin(x

22.
23. y = 2% 4+ sin (z) cos® ()

24. y = z (10z + 6)*!

25. y = \/(SiHI)E +1
26. y = tan (1‘4 + 322 + 1)

_ sin(dx)
1.y = 1

28. y=(5—2cosx)
2. y = (57 + 3)™

30, y = %sin_‘l (z) — £ cos® (z)
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Find the derivative:

31, y = tan(2x)

32. y = tan (CGH{I})

33. yzsin( = )

34. y = sin® (3:1?4 — TI)



